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19984F — 20004F (F19) 20084F - 20104 (*F14)
% RS (BHAIUR) =% I (BHAIUR)

wxm | o7 [#RSVY wxs | o7 [#RSVY
XE 213,229 313 1| |RE 297,191 275 1
EE 62,662 9.2 2| |FE 120,156 1.1 2
=N 62,457 9.2 3| |EE 82,218 76 3
Ry 56,795 83 4| |k 79,952 74 4
TIVR 42,267 6.2 5| |BA 71,149 6.6 5
HhF+E 28918 42 6| |7FVR 58,261 54 6
15)7 27,291 40 7| |HhF5 48,344 45 7
av7y 24,560 36 8| |[15)7 47373 44 8
FE 24,405 36 9| | RRAY 39,985 37 9
ARy 20,006 29 i REPZ 39,555 37 10
A—RSUT 18,571 2.7 1] [&E 34,643 32 11
AR 16,558 24 12| |[#—X+5U7 34,055 3.1 12
P 16,088 24 13| |75 29,296 2.7 13
AT —F 13,202 19 14| #5245 26,712 25 14
AR 12,042 18 15 |[Be7 26,082 24 15
EE 10,701 16 16| |[BE& 21,831 20 16
‘i 8,720 13 17| |kLa 20,786 19 17
T2 8,616 13 18| | R4 & 19,795 18 18
NL¥F— 8,614 13 19| |[Rz—F> 17,825 16 19
S EY 8,169 12 20| [R—35F 16,974 1.6 20
R—FK 7,728 1.1 21| |[NL¥F— 14,765 14 21
FoR—Y 6,860 10 22| 45> 14,147 13 22
M 6,262 0.9 23| [1R5T L 10,565 10 23
+T—AR)T7 6,026 0.9 24| |[Fo=—4 10,345 10 24
kLo 4927 0.7 25| |[A—RK)7 10,187 09 25
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